
cg';"rL % 

-bkmf $ ;Fu ;DaGwLt_ 

Joj;fo s/sf] b/ 

        

qm=; ljj/0f s/sf] b/ s}lkmot 

!_ dlb/f k;n     

  s_ ljt/s 5000   

  v_ yf]s ljt/s 3000   

  u_ v'b|f ljqm]tf 2000   

@_ ;"lt{hGo     

  s_ ljt/s 5000   

  v_ yf]s ljt/s 3000   

  u_ v'b|f ljqm]tf 2000   

#_ xNsf k]okbf{y     

  s_ yf]s ljt/s 2000   

  v_ v'b|f ljqm]tf 1000   

$_ ;'grfFbL k;n      

  s= km]G;L uxgf agfO{ ljqmL ;f] ?d -s_ >]0fL 

5000   

  v= km]G;L uxgf agfO{ ljqmL ;f] ?d -v_ >]0fL 

3000   

%_ cf}ifwL k;n     

  s_ pTkfbs 5000   

  v_ ljt/s yf]s 3000   

  u_ v'b|f k;n 8fS6/ ePsf]  2000   

  3_ v'b|f k;n 8fS6/ gePsf] 1000   

^_ cfo'{j]lbs cf}ifwL     

  s_ pTkfbs 5000   

  v_ ljt/s 2000   

  u_ v'b|f 1000   

&_ Pu|f]e]6 k;n     

  s= yf]s -s[lif hGo ljp ljhg, cf}ifwL tyf cGo ;fdfu|L_ 1500   

  v= v'b|f -s[lif hGo ljp ljhg dfq_ 1000   

*_ :6]zg/L k;n     

  s= yf]s  2500   

  v= v'b|f  2000   

  u= d'b|0f ;fdfu|L  3000   

  3= skL pBf]u 3000   

(_ s:d]l6s k;n     

  s= yf]s 2500   

  v= v'b|f 1500   

!)_ df]6/ kf6{; tyf af]l8 ljN8;{ ;fdfu|L 

3000   

!!_ n'la|s]zg ;]S;g -df]ljn u|L; cflb_ tkm{ 

    



  s= yf]s 3000   

  v= v'b|f 1500   

!@_ knfO tyf Unf; xfp;     

  s= yf]s 3000   

  v= v'b|f 1000   

!#_ Jofu xfp;     

  s= yf]s 3000   

  v= v'b|f 1000   

!$_ wfuf], 6fs, r'8L, >Lªuf/ k'hf ;fdfu|L k;n 
    

  s= yf]s 3000   

  v= v'b|f 1500   

!%_ O{n]S6f]lgs÷sDKo'6/ k;n     

  s= yf]s 3000   

  v= v'b|f 2000   

  u= 38L /]l8of] cfbL 1500   

  3= cl8of] le8Lof] 1500   

  ª  df]jfOn k;n 1500   

!^_ ljB't ;fdflu| k;n     

  s= yf]s 3000   

  v= v'b|f 1500   

!&_ xf8{jo/, d]lzg/L, k]G6;, ;]g]6/L, dfj{n k;n 

    

  s= yf]s 4000   

  v= v'b|f 58, l;d]G6 xf8{j]o/ 3000   

  u_ d]lzg/L 3000   

  3_ k]G6; 2000   

  ª_ ;]g]6/L, dfj{n k;n 3000   

  r_ cGo v'b|f 2000   

!*_ k]6«f]lnod kbfy{     

  s= # kDk jf dfyL 5000   

  v= @ kDk  3000   

  u= ! kDk 2000   

  3= k]6«f]lnod kbfy{ ;j\ l8n/ 1500   

  ª= d§Lt]n dfq ljqmL 1000   

  r= Uof; l;ln08/ l8n/ 1500   

!(_ l:6n cfNd'lgod k;n     

  s= yf]s 5000   

  v= v'b|f 2500   

 @)_ kmlg{z;{ k;n     

  s= yf]s  5000   

  v= v'b|f  2500   

  u= 8]sf]/ k;n 2000   

 @!_ ;jf/L ;fwg Ph]G;L tyf ljqmL k;n     



  s= a;, 6«s, 6\ofS6/, lhk, sf/, Eofg l8n/  10000   

  v= df]6/;fO{sn l8n/  5000   

  u= df]6/;fOsn tyf cGo ;jf/L ;fwgsf] l8n/ :jb]zL  4000   

  3= ;fOsn k;n 2000   

  ª= l/–slG8;g xfp; 3000   

  r= 6fo/ zf]?d 3000   

  5= c6f]l/Szf 5000   

  h= ljljw ljifosf ;fdfg ;Knfo;{ tyf Ph]G;Lx? 2000   

 @@_ b}lgs pkef]Uo j:t'      

  s= vfB ;Knfo;{ 3000   

  v= uNnf yf]s 3000   

  u= vfBGg ls/fgf yf]s 3000   

  3= vfBGg ls/fgf v'b|f 1500   

  ª= ;fgf ls/fgf k;n 500   

  r= cfn' Kofh n;'g yf]s 2000   

 @#_ kmnkm'n k;n       

  s= yf]s 2000   

  u= 7]nf 550   

  v= v'b|f 1000   

 @$_ xl/of] t/sf/L k;n     

  s= yf]s 2000   

  v= v'b|f 500   

 @%_ sk8f k;n     

  s= yf]s 3000   

  v= v'b|f 1500   

  u= km]G;L k;n 1500   

 @^_ ljz]if1 k/fd;{ tyf cGo Joj;flos ;]jf 
    

   sG;N6]G; ;]jf     

  s OlGhlgol/ª kmd{ k/fdz{ ;]jf 3000   

  v n kmd{ tyf sfg'g k/fdz{ ;]jf 1500   

   n]vf kl/If0f Joj;fo tkm{     

  s= n]vf kl/If0f -l;= P=_ 3000   

  v= cGo 2000   

 @&_ cg';Gwfg tyf k/fdz{ ;]jf     

  s= cg';Gwfg kmd{ 2000   

  v= ljdf sDkgL 2000   

  u= z]o/ Ph]G6 kmd{ 2000   

  r= 9'jfgL tyf 6«fG;kf]6{ 2000   

  5= ;:yfut k]G6;{ 2000   

 @*_ lgdf{0f Joj;fo     

  s= g= kf= df k|wfg sfof{no ePsf lgdf{0f Joj;foL 3000   

  v= ljb]zL lgdf{0f Joj;foL tyf k/fdz{ bftf 10000   



 @(_ ejg lgdf{0f     

  s= ld:r/ / ;6l/ª ;fdfg ePsf] 5000   

  v= ;6l/ª ;fdfg ePsf] dfq 4000   

  u= ejg lgdf{0f Joj;foL 2000   

  3= jf6/ l8«lnª 3000   

 #)_ pTkfbg d'ns pBf]u     

  s= Knfl:6s pBf]u -Knfl:6s emf]nf pBf]u afx]s_ 5000   

  v= rKkn pBf]u  5000   

  u= l:6n cfNd'lgod, lu|n  tyf :6Ln ;fdfu|L pBf]u 4000   

  3= kmnfdsf] lu|n pBf]u 2500   

  ª=  ;fa'g pBf]u s= ju{ 5000   

  r= h'Qf pBf]u tyf ;f] ?d 2500   

  5= h'Qf k;n yf]s 2000   

  h= h'Qf k;n v'b|f  1500   

  em= h'Qf dd{t  500   

  `= kz' cfxf/ pBf]u 2500   

  6= kz' cfxf/ ljqmL s]Gb| 1500   

  7= kz' kG5L kfng pBf]u 1000   

  8= 3/]n' s'l6/ pBf]u 500   

  9= cu/jQL, d}g jQL, l6sL, crf/ tyf o:t}} k|s[ltsf cGo s'l6/ , 

x:tsnf, d"lt{snf ;d]t 500   

#!_ sk8f tyf ufd]{6 pBf]u     

  s= sk8f pBf]u 5000   

  v= Hofs]6 tyf Jofu pBf]u 4000   

  u= wfuf] pBf]u 2000   

  3= ufd]{G6 pBf]u 2500   

  ª= 9fsf pBf]u s= >]0fL  1500   

  r= l;/s 8;gf pTkfbs 3000   

  5= 5ftf, ;nfO{ pBf]u 1500   

 #@_ k]o kbfy{ pTkfbg pBf]uM     

  s= ldg/n jf6/ pBf]u 5000   

  v= lkpg] kfgL ;Knfo;{ 2000   

  u= cfO{; a/km pBf]u 2000   

  3= cfO;lqmd pBf]u 2000   

  ª= ;f]8f pBf]u 2000   

##_ ef8f tkm{     

  s= sf;, tfdf, lkQnsf ef8f pBf]u  4000   

  v= cfNd'lgod ef8f pBf]u 4000   

  u= Knfl:6s ef8f pBf]u 4000   

  3= l6gsf] afs;, jfN6L pBf]u 3000   

  ª= ef8f k;n 2000   

  r= Knfl:6s hGo ;fdfu|L k;n 2000   

  5= k'hf ;fdfu|L k;n 2000   



#$_ s'6fgL k]nfgL 
    

  s= kmnfj/ ldn 5000   

  v= ;]n/ ldn -s'6fgL, lk;fgL / k]nfgL ePsf]_ 2500   

  u= s'6fgL jf k]nfgL  2000   

  3= s'6fgL dfq 1000   

  ª k]nfgL dfq 1000   

  r= lrp/f ldn 2000   

  5= d;nf tyf a];f/ pBf]u 1000   

#%_ 8]/L pBf]u     

  s= 8]/L pBf]u tyf ljqmL k;n 1500   

#^_ pkef]Uo j:t' pTkfbg pBf]u     

  s= s'lsh, kfp/f]6L, g'8N; pBf]u 2000   

  v= sGkm]S;g/L pBf]u 2000   

  u= lj:s'6 pBf]u 2000   

  3= bfndf]7 pBf]u 1000   

#&_ l/sG8L;g pBf]u     

  s= kmnfd s[ifL cf}hf/ pBf]u 2000   

  v= sfuh Knfl:6s l/sG8L;g pBf]u 1500   

  u= phf{ d'ns pBf]u 1500   

  u= jfof] Uof; pBf]u 3000   

  3= ;f}o{ zlQm pTkfbg pBf]u 2000   

  ª= dd{t ;+ef/ kf6{ pBf]u 2000   

#*_ sfi7 tyf jg hGo pBf]u     

  s= ;–ldn KnfOp8 pBf]u 5000   

  v= sf7 ljqmL l8kf] 4000   

  u= sf7sf] kmlg{r/ pBf]u / ;f] ?d 3000   

  3= sf7sf] kmlg{r/ ;f] ?d 2000   

  ª= j]t -aFf;_ tyf JofDjf] ;f] ?d 1500   

#(_ slqm6 pBf]u      

  s= s+lqm6 Ans pBf]u 3000   

  v= ;]g]6/L pBf]u 1500   

  u= 9'Ëf lu§L jfn'jf ;Knfo;{ 4000   

$)_ l8l:6n/L pBf]u     

  s= l8l:6n/L pBf]u s ju{ 10000   

  v= l8l:6n/L pBf]u v ju{ 7000   

$!_ O§f pBf]u 30000   

 $@_ Aof6«L pBf]u 
20000   

$#_ ko{6g pBf]u     

  s= xf]6n, nh tyf /]:6'/]G6 -pRr sf]6L_ 4000   

  v= xf]6n tyf nh 3000   

  u= xf]6n tyf /]:6'/]G6 2000   

  3= bf]x/L ;fem 2000   

  ª=  kf6L{ Kofn]; 5000   



  r= /]:6'/]G6 2000   

  5= ef]hgfno 1000   

  h= ld:6fGg Sof6l/ª k;n ;d]t 3000   

  em= ld:6fGg k;n 1500   

  `= Sof6l/ª 2000   

  6= lrof skmL k;n 1000   

  7=  kmf:6 km'8 P08 Sofkm] 1000   

$$_ 6]G6 xfp;     

  s= ljB't 8]sf]/]zg j]G8 jfhf ;lxtsf] 6]G6 xfp; 5000   

  v= ljB't 8]sf]/]zg ;lxtsf] 6]G6 xfp; 3500   

  3= 6]G6 xfp; dfq 2500   

$%_ ;]jf pBf]u     

  s= ckm;]6 k|]; 3000   

  v= :qmLg lk|G6 k|]; 2000   

  u= n]h/ lk|G6 k]|; 1500   

  3= l;g]df xn 3000   

  ª= lkmNd l8:6LJo"6;{ 1500   

  r= sn/ Nofa ;]jf 1500   

  5= lel8of] ldlS;ª 2000   

  h= kmf]6f] :6'l8of] 1500   

  em sn/ Nofj / lel8of]  ldlS;ª 2000   

  `= ;fp08 l;:6d 1500   

$^_ ;+rf/     

  s= 6]lnkmf]g, 6+sn, ˆofS;, df]jfOn ;]jf k|bfos sDkgL 3000   

  v= l6=eL= Rofgn k|;f/0f 3000    

u=   s]jn Rofgn k|;f/0f #))) eGbf a9L u|fxs ePsf] 5000 
 

 

     s]jn Rofgn k|;f/0f #))) eGbf sd u|fxs ePsf] 3000  
  3= Pkm Pd k|;f/0f 2000   

  ª= kq klqsf k|sf;g ;]jf 1000   

  r= OG6/g]6 ;]jf k|bfos #))) eGbf a9L u|fxs ePsf]  

5000   

r= OG6/g]6 ;]jf k|bfos #))) eGbf a9L sd ePsf]  3000  
  5= s]jn tyf OG6/g]6 ;]jf k|bfos 5000   

  h= df]jfOn k;n 2000   

        

$&_ sDo"lgs]zg ;]jf     

  s= 6';{ P08 6«feN; ;]jf 1500   

  v= kmf]6f]skL, lk=l;=cf]=, ;fOa/ tyf Sofkm] 1500   

  u= s'l/o;{ ;]jf d'Vo sfof{no 1500   

  3= s'l/o;{ ;]jf zfvf sfof{no 500   

$*_ ljlQo ;]jf -g]kfn ;/sf/sf] k"0f{ :jfldTjdf /x]sf a}+sx? afx]s_ 

    

  s= jfl0fHo a}+s lghL :t/ d'Vo sfof{no  30000   

  v= jfl0fHo a}+s k|lt zfvf sfof{no 10000   



  u= ljsf; j}s d'Vo sfof{no 20000   

  3= ljsf; a}+s k|lt zfvf sfof{no 7000   

  ª= kmfOgfG; sDkgL d'Vo sfof{no 10000   

  r= kmfOgfG; sDkgL k|lt zfvf sfof{no 3000   

  5= n3' ljQ sDkgL 5000   

  h= ljdf sDkgLx? 5000   

  em= dgL PS;r]Gh/÷6«fG;km/ 2000   

  `= ljlQo ;xsf/L ;+:yf 1000   

$(_ :jf:Yo ;]jf Joj;fo     

  s= u}/ ;/sf/L c:ktfn tyf gl;{ª xf]d 3000   

  v= Pd cf/ cfO{, l;l6 :Sofg, cN6«f;fp08 lSnlgs / kf]ln lSnlgs 2500   

  u= Kofyfnf]lh 1000   

  3= cSo"k+r/ 1000   

  ª  PS;/] 1000   

  r= rZdf k;n 1000   

%)_ lzIff ;]jf     

  s= lghL SofDk;  5000   

  v= lghL df= lj= 5000   

  u= lghL cfwf/e"t 2000   

  3= k'j{ k|f=lj=, 5fqfjf;, dG6]Zj/L 1500   

  ª= kf]ln 6]SgLsn OlG6Ro"6 k|lzIf0f ;d]t 2000   

  r= gl;{ª, l;= Pd= P=, Pr= P= k|lzIf0f ;d]t 2000   

  5= Ph's]:gn sG;N6]G;L ;]jf 3000   

  h= sDKo"6/ On]S6«f]lgs tflnd 2000   

  em= 8«fOleª OlG:6Ro"6 2000   

  `= efiff, lzIff, sf]lrª ;]G6/ 2000   

%!_ dd{t ;+ef/ -sf/vfgf_     

  s= gofF jf]l8 agfpg] s >]0fL 4000   

  v= jf]l8 dd{t ug]{ v >]0fL 3000   

  u= n]y ;]S;g 2000   

  3= 6fo/ l8n/ ;f] ?d 3000   

  ª= 6fo/ l/;f]lnª 2000   

  r= 6fo/ kGr/ dd{t 1000   

  5= OlGhg dd{t 1500   

  h= 8]G6Lª, k]G6Lª tyf j]lN8ª 1500   

  6= kDk ;]S;g dd{t 1000   

  7= Jofl6« On]S6«Ls ;]S;g dd{t 1000   

  8= jfl;ª ;]S;g 500   

  9= l/S;f ;fO{sn ljqmL 1000   

  0f= l/S;f, ;fOsn dd{t tyf ljqmL ;xLt 1500   

  t= l/S;f ;fOsn dd{t 500   

  y= l6= le=, 8]u, df]afOn, lkm|h dd{t, sDKo"6/ dd{t 1500   

  b= /]l8of], 3l8, SofNs'n]6/ dd{t 500   



  w= df]6/;fOsn dd{t 1500   

  g= sDkgL k§f, /]l8o6/, lu|;, x]8 dd{t 500   

  k= h]g]/]6/, lkm|h, sDKo"6/ dd{t 1000   

 %@_ x]eL OSo"kd]G6     

  s= x]eL OSo"kd]G6 vl/b ljqmL 5000   

  v= cGo sjf8 vl/b ljqmL 3000   

%#_ cGo ;]jf     

  s= j}b]lzs /f]huf/ ;]jf k/fd;{ bftf 3000   

  v= j}b]lzs /f]huf/ k/fd;{ ;]jf zfvf sfof{no 2000   

  u= ;]jf k/fd;{ bftf 1500   

  3= >lds ;]jf k/fdz{ bftf 1500   

  ª= ;fdfg ;lxt >lds ;]jf k/fdz{ bftf 1500   

  r= ;]S/]6l/on ;]jf dfq 1000   

%$_ 8«fO lslNgs, ;}n'g tyf Jo"l6kfn{/     

  s= Jo"l6 kfn{/ ;]jf, tflnd ;lxtsf] -% hgf eGbf j9L sfl/u9_ 1000   

  v= Jo"l6 kfn{/ ;]jf 500   

  u= sflnu9 ;lxtsf] ;}n'g ;]jf -@ l;6 dfyL_ 1000   

  3= ;}n'g ;]jf @ l;6 ;Ddsf] 500   

  ª= 8«fOlSnlgs ;]jf  500   

%%_ ;fO{g jf]8{ cf6{ Joj;fo     

  s= l8lh6n cf6{ Joj;fo 1000   

  v= cGo cf6{ Joj;fo 1000   

%^_ kz' jwzfnf     

  s= kz' jw\zfnf  5000   

  v= kz'sf] 5fnf ;+sng tyf ljqmL 3000   

%&_ df5f df;' ljqmL k;n      

  s= Koflsª df5f df;' ;Knfo;{ 1000   

  v= df5f df;' dWo] sDtLdf # j6f ;]jf lbg] k;n 2500   

  u= df5f df;' dWo] sDtLdf @ j6f ;]jf lbg] k;n 2000   

  3= s'g} Ps ;]jf, df5f l;w|f 1000   

  ª= c08f ljqmL k;n 1000   

%*_ km'n lj?jf k;n     

  s= g;{/L 2000   

  v= km'n ljqmL 1000   

%(_ :g's/ tyf k'n xfp;     

  s= :g's/ tyf k'n xfp; b'j} ePsf] 1500   

  v= :g's/ dfq 1000   

  u= k'n xfp; 1000   

^)_ v]nf}gf, lukm\6 xfp; tyf kmf]6f] km|]d k;n -zf]?d_     

  s= v]nf}gf tyf lukm\6 k;n  1500   

  v= v]nf}gf dfq  1000   

  u= kmf]6f] k|m]]d  1000   



^!_ l;nfO{ d]lzg dd{t tyf l;nfO{ k;n     

  s= l;nfO{ :k]l:n:6 k;n  2000   

  v= l;nfO{ k;n  1000   

  u= l;nfO{ d]lzg dd{t  1000   

  3= a'l6s Nofa|f]6/L  1000   

 ^@_ 
ª ;+lut snf s]Gb|   1000   

^#_ 3'lDt Joj;fo ug]{ Joj;foLsf] xsdf     

  s= km]G;L tyf sk8f k;n un}+rf ;d]t 800   

  v= ls/fgf lj;ftf tyf ef8f k;n  500   

  u= 7]nfdf laqmL  500   

  3= cGo k|s[ltsf  200   

^$_ dfyL pNn]v gePsf pBf]ux?sf] xsdf  
    

  s= 7'nf pBf]u  5000   

  v= dEfmf}nf pBf]u  3000   

  u= ;fgf pBf]u  1000   

^%_ dfyL pNn]v gePsf] cGo k]zf Joj;fo     

  s= l8:6LAo'6;{ yf]s k;n  3000   

  v= v'b|f k;n  1000   

^^_  l/on :6]6 10000   

^&_ sjf8 ;+sng Joj;fo 5000  
^&_ b'O jf ;f] eGbf a9L k|s[ltsf Joj;fo Ps} :yfgaf6 ;~rfng u/]df a9L 

pNn]v ePsf]sf] s"n / cGo k|To]s ykdf   
 yk krf; 

k|ltzt    

^^_ dgf]/~hg s/ d]nf k|bz{gL cflbdf k|lt l6s6 

kfFr k|ltzt   

pk/f]Qm ljifo g;d]l6Psf Joj;fosf] xsdf gu/sfo{kflnsfsf] lg0f{o cg';f/ x'g]5 .  

 


